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Type of force:  Gravitational Weak Electro-magnetic Strong 
Range: infinite £10-16cm infinite £10-13cm 
Strength 
relative to 
strong force at 
a distance  
10-13  cm 
 

10-38 10-13 10-2 1 

Decay time for 
a typical small 
mass hadron: 

 
10-10s 10-20s 10-23s 

Mediator: Graviton W+,W-,Z0 Photon g gluon 
Mass of the 
mediator: 0 82 GeV/c2 

92 GeV/c2 0 0 

 
Theories: Strong interaction Quantum chromodynamics

QCD
em interaction Quantum electrodynamics

QED
Weak interaction Weinberg – Salam

model (Flavour dynamics)
Gravitation Quantum gravity (?)

Einstein’s general relativity

1.3 Basic Interactions (forces)1.3 Basic Interactions (forces)INTERACCIONES FUNDAMENTALES (FUERZAS)INTERACCIONES FUNDAMENTALES (FUERZAS)
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PartPartíículas y Escalasculas y Escalas
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Historia de la Historia de la unifunificaicacciióónn de las fuerzasde las fuerzas

gravity

electric magnetic

a-decay

b-decay

g-decay

planets apple

electromagnetiesm

atoms

Quantum mechanics
mechanics

Special relativity

Quantum ElectroDynamics Weak force

Strong forceElectroweak theory

Grand Unification?

GR

String theory?
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W here are the HEP experiments ?

S LAC
Stanford

(e+e-)

Ferm ilab
(pp, n)

C ESR
Cornell (e+e-)

DESY
Hamburg (ep)

CERN
Geneva
(e+e-, pp)

DA FFFF NE
Frascati

(e+e-)

Novosibirsk
( e+ e - )

BEPC
Beijing
( e+ e - )

K EK
( e+ e - ,nnnn )

ExperimentosExperimentos
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Fermilab Tevatron

Main Ring   

(p’s and anti-p’s) 
150 GeV 

Tevatron

(p’s and anti-p’s)  

900 GeV

The two counter-rotating beams are focused and brought into collision at the 

CDF and DÆ detectors.

The accumulated stack of  8 GeV antiprotons, plus a new batch of 8 GeV protons from 
the Booster, are accelerated to 900 GeV by the Main Ring and the superconducting 
Tevatron working in tandem.

TevatronTevatron en en FermilabFermilab
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CERNCERN



����������	

�����
����������� �������������������� 0

PartPartíículas y Cosmologculas y Cosmologííaa
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Aceleradores y CosmologAceleradores y Cosmologííaa
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Higgs boson

t quark

b quark

s quark

ISR

Tevatron

SPEAR

SppS

TRISTAN

LEPII

CESR

Prin-Stan

Accelerators

electron

hadron

W, Z bosons

c quark

LHC

PEP

SLC

1960 1970 1980 1990 2000

Starting Year
2010

10
-1

10 0

10
1

10
2

10
3

10
4

C
on

st
itu

en
t C

M
 E

ne
rg

y 
(G

eV
)

Aceleradores en el tiempoAceleradores en el tiempo
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2 2 41 1 1
 

2 2 4
L T V m

mf f m f lf� �= - = ¶ ¶ - +� �
� �

4���* >�������+� 5�������*�

INTL W Wm
mf= , .v h v constf = +

" $ � � " ��*� � � = � =� �
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3�*���3�*��� ������ 4���*4���*

(&���*��+�1���*�
+��������*�+�����*�
�����++����*���5��+�*�����
6�������*������?

� � � �� !�" #�$%&'(

� � )���*�!�" #�$%&'(
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Large Large HadronHadron Collider (Collider (LHC):TeVLHC):TeV
� ��������������

+���*�������
� �����2���� ��@

A+B��	��@�C�
��������D

� !� +��*��1++�5����
%!� '�����<�

� !1����� ���*1�
��>��2�

� %������1+����*���
��'�E����'�%�����

� %�����������F	

.
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CERN CERN -- LHCLHC
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NNEUTRINOSEUTRINOS

Un puzzle de 70 aUn puzzle de 70 aññosos
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� &�*������ 3���3���?
K %1�����������<��*���*�����+�������'���*�

��1�����*�*��+�������L1����+�����*�����*�
����2+1��*

K M1�����1��*�+1����*?�F)

���1�����*�����+� )

� @������������"?
K ��������*��� ��1�����*���*��������*���*��5��+���

*��1���

�  ����*�<���*?
K 
�������������*�*����+�*����1������������G������

���)��I�*��1����

Los Los NNEUTRINOSEUTRINOS estestáán presentesn presentes
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Problemas con el espectroProblemas con el espectro Beta Beta 

� ���*�����*���
������+��<���� : a, b, g

� a, g+����*��+����
��*+��������H1�

Ea, g = Ei – Ef

� 
��������*��+��� b �*�
+���2�1�J

3�G�?� ����G�����*����*������B������+��G���>'�G�N�<��'�
N����>�*�>��G���N��G�<��������1����'����G���������+� ��
����G������+��'�B���1�G��������G�������>�����+������ ���G��
+�*���B�����>���*�����������*
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Idea Idea desesperada dedesesperada de PauliPauli
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TTres tipos deres tipos de NeutrinosNeutrinos

� ���*���1�����* � O������*
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Los Los Neutrinos Neutrinos son zurdosson zurdos
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Los nLos neutrinoseutrinos no deben tener masano deben tener masa

� ����*���* ��1�����*���H1�����* � *�����*�
� %�����*������1�������������<�����������1��

� �G������* ��1�����*�*�������+G�*PP�
� +�������++�5�� � ��������� ��*�
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NeutrinosNeutrinos: tienen masa ?: tienen masa ?

� 
�1�� ���*�5 1���+�L�����
+G���������*��1������H1��
��������+������2����*�
��1�����*

� ����������'�%�N���>
�����* ���G�+������1*�����
1� ���+�����1+������� �0,/

�  �1�����*�*�����*��������
6������!*������ AQ-
*D

� !<����+�� ��*����1�����*
�1���R A�00/D�>
� ��A	

	D

� 
��������<����+���H1��
���6������!*�������
�2����������*�
����2+1��*�����������*�
�*���+�������J

� 	

	� �����?�
� &�<�*� R�*G���
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61+G���*B1�����
��*�����* S-
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�����������*��
��+����5 �<����+���
+��<��+��������
T�*+���+�5�����
��1�����*U

"�*���1�����*
����+���������1���
��*� ��H1�I� ����
B�����

NeutrinosNeutrinos: mucho trabajo y gente: mucho trabajo y gente
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SuperSuper--KamiokandeKamiokande ((SuperKSuperK))

� 6����R����:�
���E��5�

� F�


� ��L��
������

� ,
:����1�
� &���+���

�������
K ��'	

�
6�*

� &���+���
�;�����
K 	'


�
6�*
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SuperKamiokaNDESuperKamiokaNDE
Experimento del decaimiento Experimento del decaimiento 

del del Nucleon Nucleon 
� p® e+p0, K+n'���+

K  ����*��<���*��1�
K �����������1�����*�

����*BV��+�*

� ��>�*�+5*��+�*��*���5��+�*
K  �1�����*�����*BV��+�*�

*������+�* ����������L�
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Mitad deMitad de nnmm perdidosperdidos!!

����2� �;���������
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Oscilaciones de dosOscilaciones de dos--nneutrinoeutrinoss

nm,t = 1 cosq e- im1
2t / 4p + 2 sinq e- im2

2t / 4p

� %1�����*�������1+���* (ej., p+® m+nm), 
��*���1�����* *������1� ����������+1����

�  ����* 100% nm, ���+�������� nt ! 
(
����+��<� )

� T
���������������*1���<�<��+��U ����
nm ��*�1V*��� �

  
P = nm nm,t

2
=1- sin2 2qsin2 1.27

Dm2c4

eV2
GeV
c r p 

ct
km

�  

�  
�  

�  

�  
�  
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ProbabiliProbabilidad de dad de supervivienciasuperviviencia

"�� ������ ��� ��*� H1��
����<��*��� ��� ������� *��
�������

p=1 GeV/c, sin2 2q=1 
Dm2=3´ 10–3(eV/c2)2
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MMááss por venirpor venir

W�<����*�*�����G�> �*+���+���

W�<����*���*��<���*? ,-
6$ ���A$"� ® 6 D�	

,
�
!��8$%�����A%!� � ® ��D�
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250km

80.1- 5.4
+6.2
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Neutrinos solaresNeutrinos solares

� "��B1*�5���1+���������1+���1+G�������2�

F n =
2Lsun

25MeV
1

4p (1AU)2 = 7×1010 sec- 1 cm- 2


��H1
��H1 VV ������������"P������������"P
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NO los recibimos todos...NO los recibimos todos...
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Los nLos neutrinoeutrinos oscilans oscilan ??

� !;���+����*�����*

� 
�������*�+������
�����������*��P

� 
�������*�+�����*�
�;���������*P

� 
�������*�+������
B2*�+�������1�����*P

LMA

LOW
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SNOSNO
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SNO SNO al rescateal rescate

� %��������* +������* :ne

� %��������*���1���* : ne+nm+nt

� nm,t <����������*��J

F CC =1.76± 0.05± 0.09×106cm- 2 sec- 1

F NC = 5.09 - 0.43
+0.44 - 0.43

+0.46 ×106cm- 2 sec- 1
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NeutrinosNeutrinos equivocadosequivocados

• �5�� ne *�������1+���*�������
*��

•  �1�����* �H1�<�+���* nm,t
<����������*��J

• &�����1���B��������1��*����
��* ne *��+��<��������� nm,t ���
*1�+��������*������+����������
*����������+���

��� � �
�	4��	
����������	��
�
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Nuevas preguntasNuevas preguntas

� 
��H1V ���������*�P
� 
��H1V ������H1�I�P
� ���G��<�*��� ��B����+��*�

�����*�* ���%1���*�*���
��*���*�*P�

� !*���+�*�����1��+1�����
��1�����P

� ������*���1�����*�>�
�������1�����*���1���*P

� %����*���;����������6������!*�������
�������+����������1�����*���*�<�*P
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Materia OscuraMateria Oscura
A��������������+�5�����+�������V��+�D

� 
����+G������������������B��+��������3�� 3���

� "�*��<����+��*��;�����������*�*������<���+������*
� ��<����������������*��*������*�<�������*���>�*���� ���
R�����
� ���� +����*������*���������*��*������*��;�������*
� <���+������������+�5���������;��*����������������* �
+�����*����+�1*���
� �1��*������*�+����������*��<�������������������*�
����;��*������2���*+����
� �����*����<���+����*������*�+1�����+�����������
�1����*����*��<���
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RotaciRotacióónn de de GalaxiasGalaxias

���<����?
��6A�D�8�� 	�� 7�<	� 8��
��*� ��+������?�
6A�D���7�<	 ��8��

<���+����'�<

�����'��

Estrellas luminosas son una pequeña fracción de la masa de la galaxia
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CandidatosCandidatos
� ��1�����*���*�<�*P

� ������������������A����5��+�D�H1��������2�P
� ���<��������*�����
� �����*�����+�*��*+1��*'���1L���*������*���H1�I�*
A6� **�<� %����+�� 4 ���� � �L�+�D

� =$6
�A����2+1��*���*�<�*��V���������������+�1����*D�P

� �;����* A�*�+����*�+���M%&DP

����*������/X

����*�����)
X

����+�����+��������� � �
 �)� =$6
�8*8:��������������

+���*��1>�B1����*����*1���*�
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EnergEnergíía y materiaa y materia

���5�
�����6
#789%(

����

#7:%(

;��6��	�
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ConclusiConclusióónn
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G���?88�����+����<���1������8�����+����<���1��8*����* G8����;�G���

G���?88NNN�������+����*����8

G���?88����������<8

AlgunAlgun material en material en internetinternet ......

��������CB������1�1>


